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" The power plant ™

Current for long tail is This CCS feeds current Each power transistor Total positive current
4.5mA = " - with 1 to 1.5mA colet hould be adj 1to
This CCSis to VAS, to the PHP driver, and _ ¢ )
current is 8mA current is 30mA :;«::;l:::r current in stand 100mA
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Differential current is 2.25 This CCSfeed current  Despite the schematic :;?"“"‘I"I?:‘ai:}?u;“;ﬂ:
mA to each transistor to the NPH driver, showing 4 output pairs, the

current is 30mA real thing is 10 output pairs 100mA




